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o

e Jets algo comparing macro is fixed: now they showed all entries
rather than only the first one in each event

* Wrote the pairing up macro
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ignal: mu+ mu->vmvm~™ h h
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Background: mu+ mu->vmvm~b b~ b b~
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Background: mu+ mu->vmvm~b b~ b b~
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Background: mu+ mu->vm vm~ b b~ h
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Background: mu+ mu->vm vm~ b b~ h
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Background: mu+ mu->vm vm~ b b~ z
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Background: mu+ mu->vm vm~ b b~ z

VLCRO0O5N4GenJetPt VLCRO0O5N4GendJetDeltaR
VLCROGN4GendatPt WLCROSN4GenJelDeliaR
Entries 3361 Z Entries 3361
300 Mean —0.1949 600 ~ Mean —0.2061
Std Dev 0.2606 -~ Std Dev 0.3157
250 500 —
200 400
150 300
100 200—
50 100
D 1 1 1 | | | J L 1 | 1 L1 D B | | | | | | | | | | | | 1 | — | | | | | |
& 02 04 06 08 1 ' 4 2 0 2 4 6




@ Jets pairing up macro

* Choosing the jet with invariant mass the closest to 125 GeV as the
leading one. Left pair as the sub-leading one.
Two methods:

1. Using built in function in TLorentzVector
2. M= \/ZPT1PT2 - (cosh(ny —12) — cos(p; — ¢3))
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@ Signal: mu+ mu- >vm vm~™ h h
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